MATH:2850
MIDTERM 1
September 30, 2016

NaMe, oo LUTWON

SIGNATURE.

Do all § problems, 20 points each.

Show all of your work in order to receive full credit. Every answer must be properly written with
logically and grammatically correct sentences and mathematical expressions. Show all of your work
or indicate its location in the space provided after each problem. If the question is asking to provide
an exact answer, (for example: +2,In2, e* or sin £, then providing a decimal answer obtained from
a calculator will not receive full credit. Only writing a final answer of a question may not receive full
credit, unless it is indicated otherwise. You need to indicate the steps of procedures and show the
details of your work to receive full credit.

If you have any questions, please ask your proctor, do not guess. Please put away your cell
phones (turn them off), laptops, textbooks and notes.

DO NOT WRITE BELOW:

TOTAL.



Problem 1,
Let Ax,y) = y* —x2.

For all of the graphs below: label the axes, and label the graphs with their functions.
a. Sketch the section of the graph of f by the plane x = 0, thatis z = f0, ).
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b. Sketch the section of the graph of / by the plane y = 0, thatisz = f{x,0).
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c. Sketch the level curves at height ¢, that is Ax,y) = ¢ for the values of ¢ = —1,0 and 1.
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Problem 2,
x =

Let P be the point (1,1,5) and the line { be given by the equations < y = 1+¢ inR3,
z = t

a. Find a parametric equation for the plane that contains the point P and the line {.

hee £V =0 1) + & (L 41

r(w_& F(S.'\')-: (D,l,a\ﬁ-&(l\\‘l\*-s(l,of'f)w

(RW))
(o.a.«/
/\([‘l‘Sﬂ}
(L) = (0,1 2) = (Lo,5

b. Find the distance between P and the line {.
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Problem 3. Let f{x,y) = 2xye¥ - (Inx) + 37 + 3.
a. Calculate all first and second order partial derivatives of .
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b. Calculate the gradient VA1,0).
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escribing the tangent plane to the explicit graph of z = f{x,y) whenx = 1
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¢. Find an
andy = 0.
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Problem 4.

Let f(x,p,2) = (xp—z, x + 2y + 2?) and g(u,v) = (u—v2, uv, u+v). % (2, l\ e (l ;% 3)
Calculate the following: Df, Dg, and D(f o g)(2,1).
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Problem 8.
a.Letd = {(x,y)] 0 < xand 0 <y} be a subset of R2,

////ﬁ
What is the boundary of 4?
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Is A an open set? Circle the correct answer: YES o
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Is 4 a closed set? Circle the correct answer: r NO
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b. Calculate the following limits. If any of them does not exist, state it so, Justify your answers,

i Jim ZX - S\, o £X" £ %Xty
@x)-(00) )
w&
o £ —; < |
Kyt
Z.,L
£ e

L ')rw\uh (‘Kx"\\ -—"(010)
O

Thew  uie S q WL Fe Thwm.
i1 B -z
(xy)l_{g'o) %2 +y2 .DN

l,(' Ve aﬂroukm (ot:’) m\awj 7(-“*“ : (K,Q)——-’(Q'Q)

|\~ X =o" _ | ®
(xeNar (o3 XE49

s 0 (9,9) (02
L‘(: AR O-Q(ramcb\m (O,Q) GLN*D v}—&‘r- 3 ( "\) { )

hv- O-%" _ _ &
Cauj\—‘(av‘) OL*\P

[( ll\k\ M W . A= exiI N ) r\!\ﬂﬁ @ fud ®® wawld
k)~ a)xt At
have keen equal, bud dwey erewdo Se [ Xt gy

LI N
o4y
(e 3,3y




